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TAX POLICY FOR PROMOTING EMPLOYMENT:
THE CHCICE OF A TAX HOLIDAY

I. INTRODUCTION

Keeping in mind one of the major intorests of Professor A.K.
Das Gupte, I am comncerning myself in this paper with the ﬁnemploy—
ment problem of the developing countries, a problém which, it is
generally agrecd, is not of the same genre as the unemployment
problem which the doveloped countries fnce from time to time because
of the Slack in aggregate demand. The unemployment problem of the
developing world, it is generally recognised;.is more of the
'classical’ than 'Koynesian' variety and the solution too of this
problem pas to be of a 'classical' type, nemely the one that attempts
to shift the relative cost ratio in favour of labour as against
other factors of production, pnfticularly capitel. VWhaotever there=
fore tax policy can do in this respect can be said to promote |
mmesmployment in these countries.

But I have sot myself an even more modest goal for the
purposes of this paper, nemely to 1os¢ o choice between three
different forms in which exemption from income tax, usually referred
to as tax holideay in the literature on tax incentives, may be
offered to businoss firms with a view to promoting employment.. The
most common practico among the developing countries offering tex
holiday is to confire the tax exemption concession to new manufac-
turing firms which are usually cbliged to incorporate (i.e.form

themselves into compoanies), But in several of these countries tax



holiday is offcred nlso to firms engaged in mining ﬂnd hotel busi-
ness and in o few countries (eig. British Honduras) t~ox holiday is
avnilable to firms cnraged in certain types of agricultural
activities. For the purjoses of this paper we draw no distinction
betweon firms on the bases of the activity they are to engage in.
Again while the most common practice is to offer tex holidey to
new firms, severnl ccuntries do offer the same concessicn tc already
established concerns when they undertake to expend their activities
but the tox exemption is usually eveilable with respect to their
profits from expansion. In this paper, while we are not suggesting
any departure from the practice, where it exists, of offering tax
holiday to expanding as well as new firms, for the purposeé of
our exercise we have proceo@ed os if tax holidey is aveileble only
to new firms,

The rest o? the poper has been divided into four parts,
Pﬁ?t O poses both the choice as well as the test to be applied
in making the choice in terms of optimising the employment generated.
by the firms qualifying for tax holiday. In Part III,the test is
applied %5 the
three alternctive forms of tex holidey amongst which the choice has
been posed and we rcach the conclusion that the alternative which
sceks to link the rate of tax excmption ton be allowed to the firms
inversely tc the cepitel employed per job by them yiuvlds the
optimun  result in terms of employment. Tart IV’ dels with the
sipnificance, or otherwise, of the assumptions made by us in the

preceding section while evalueting the various elternatives. In



the fifth and concluding Part, we touch upon the question of the
procticality of introducing the tax holiday of our choice in place

of the conventional type that is now generally offered.

II

The three different forms of tax holiday I heve in mind are:

(1) Conventional tax holiday whereunder exemption is grzonted to
a firm for a given period without imposing any specific
condition except possibly of the firm's coming into existence
because this exemptior is usuclly granted to mew firms. The
rote of excmptionr, including the period for which such
exemption is aveilable, is uniformly the same for all the
firms.

(2) Tax holiday linked directly to employment, whereunder o firm
may be offered exemption from income tax for verying periods,
or of veorying proportions, depending upon the employment the
firm directly gencrates.

(3) Tax holidey linked inversely to capital employed per iob
whereunder a firm may be offered exemption from income tex,
aegain for verying periods or for varying proportions but in
o monner whereby the rate of exemption is made an inverse
function of the capital employed per job creanted directly
by the firm.

For the purpose of this exercise, we proceed on the basis
that the choice to be made is between equi-cost tax hoiiday measures
and also that the problem is one of replacing the tax holidey which
nlready exists with the more preferred ome, It must be immediately
stated that we are imposing these restrictions on our exercise
entirely out of methodological considerations. The first restric-
tion ensures that we are comparing and contrasting comparable siu&m
mwabricbirens ond the second restriction is being imposed to get
away from the problem of matching or off-setting budgetary opera-

tion to the grunting of tex holiday, namely of meking an increase



in other taxes or a reduction in expenditurec.

Given the policy objective underlying the tax holiday of
promoting increased employment, our choice should be:made on the
basis of the incfeased employment each of the tax holiday alterna-
tives can generate., Since we have already assumed that the choice
has to be made between equi-cost tax holidays, let us start with
8 situation where already the Government is offering tax holiday
of the first type, nomely the conventional toax holiday, to firms
i.e. the firms are alreandy being offered ekemption from inccme tax
for a specified number of years beginning with the year alfirm
comes into existence or sterts operations. Now the grant of this
conventional tax holiday must be costing the Government o certain
amount of revenué in that so mﬁch revenue from income tax is

thercby foregone. The test we propose to apply then is that given

the cost to Government in terms of revenue thus foregene the tax

holiday of our choice should be one which generates the¢ highest

additional employment; such o tax holiday would naturally be one

whereunder the cost to Government in terms of revenue foregone, for

every job additionally crecated is the same, If the cost to Govern-

ment varies from firm to firm there, evidently, is a cese for
shifting the accent of the incentive thus being offered from the
'high cost' firm to the 'low cost' firm. (Here we are using 'cost'
in the narrow sense of the cost to the Government in terms of
revenue foregone.)

It is not really material to our cxercose whether the revenue
thus foregone is considered a genuine cost to the Government or not.

But we might eos well take¢ note of the argument sometimes advanced,



nomely that the revenue thus foregone by the Government is not a
genuine cost because such revenue would, in any case, not have
accrued had the tax holiday not been offered by the Government for
the firms to come up. Even if one accepts this argument there
cannot be eny dispute that the incentive offered in the form of
tax holidey confers a certain benefit on the firms in terms of

tax thercby saved by them and that this benefit can be casily
quantified and aggregoted for‘the firms thus benefitting in the
country. The whole of our exercise can then be carried on in terms
of the alternative figure;thus obtained of the tax saving made

by the firms1 but such a figure should, in fact, be equal to the
cost to Government in terms of revenue loss that we were talking
about above. Instead of tolking of equi-cost tax holidays, we may
then talk of equi-benefit tax holideys.

Let us clerify another issue as well. Yhere a firm becoming
eligible for tax holiday is 2 genuinely new firm, no problem crises
in ~prlying the aforesaid test because the employment it generates

can be token ns additional employment except possibly with respect
to certein scarce skills in the ccuntry. But where an existing
firm becomes entitled to tax holicday, on account of the expassion
it undertekes, it is clenrly the additional employment that it

generates which should be teken into account.
111

Ye shall now attempt to apply our tést to the threc alter-

‘natives posed by us. But befcre attempting to do that, let us

! In fact, 1 have myself attempted an exercise on those lines in

my paper entitled, On_the Neutrality of Tax Holidey: (to_be
published).



make clear our major assumptions. PFirstly, the capital employed
by firms for every job they direcctly create (i.e. capital cost
divided by number of jobs created within the new firm) varies frém
firm to firm. (This, in fact, is implicit in the very nature of
the choice posod by us.) Secondly, the rate of return on capital
(i.c. profit divided by capitanl) is assumed to be uniform for all
the firms. Thirdly, all the firms are liable to poy tax on profits
at the same rate. Fourthly, the rate of tax exemption is also
uniformly the same for all the firms becoming eligible for tax
holiday. This means that no distinction is made between one firm
and another with . respect to either the rote of exemption or the
period for which this cxemption is available. If the rate of
exemption is 100% and the exemption is available for a period of
five years, this assumption implies that all firms qualifying for
tax holiday will enjoy this concession. Ve shall abandon this last
essumption as socn as we come to the discussion of alternatives

(2) and (3) but we shell retoin the earlier three ussumptiﬁns even

in the discussion of those alternatives.

Alternative (1):

Let us now take three firms, first one with capital employed
pPer job of Rs.10,000, second with capital employed per job of
Rs.50,000 and third with capital employed per job of Rs.1002900.
Let us also assume that for all the three firms the annual rate of
returh before tax is uniformly 15% on capital and the rote at which

income tax would haove been payable in the absence of tax holiday



115379

is 50%. Then the cost to thec Government in terms of revenue fore-
gone, with respect to thesc three firms in the event of its granting
a convontional tax holiday comprising of & 100% exemption from

income tax for a period of five yoars from the date they start

their operations, will emerge es is shown in the column, Tax fo

per job by government, in Taoble I.

Table I: Cost to vaernment per Job created of
Conventional Tax Holiday

Firm Capitel Trofit Tax pay- Rate Tax foregone Tex saved by Net rate

employ- before able in of per job by firms as ¢ of return
ed per tax per the ab- tax government propoertion on capitel
job job sence of exem- (and saved  of capital
tax ex- ption by firms)
emption ‘
Rs. Bs., ns. % Rs, % %
A 10,000 1,500 750 100% 750 7.5 15
B 50,000 7,500 3,750 100% 3,750 7.5 15
c 106,000 15,000 7,500 100% 17,500 7.5 15

Thus when the Government announces a scheme of tex incentives
wvhereby all the new firms are offered what we have cnlled conven-
tionnl tax holidey all the above three firms will be entitled to
complete exemption from inéome tax for the same number of years
afﬁer they come on étream; But, 2s can be seen from th; above
table, the cost to the Government in terms of revenue foregone
for genercting cvery additional job is the lowest for Firm A and

the highest for firm C even though the tox saved by firms as a

proportion of cnpital and their net rate of return are the same



for all the firms. Pirm A is also the one with the lowest capitel
employed per job and Firm C is the one ith the highest capitel
employed per job,

It can be seen clearly from Table I that the cost per job

to the Government varies from firm to firm because while the profit

per job increases with capitel employed per job, the rate of exemp-

tion is uniformly 100% for all the firms.

Thus if as a result of the incentive offered in the form of
conventional tax holiday, three new firms came up,.Firm A with a
capital investment of Rs,100,000, Firm B.with a capital investment
of'Rs.l,Ooo;OOQ, each creating ten additional jobs, the cost to
the Government of the conventional tax holiday would amount to
Rs.120,000 a year, for the duration of tax holiday, and as a regult

30 additional jobs would have been directly croated.

Alternative (2):

Suppose now that the Government wishes to switch over from
to one where tax holiday

conventional tax holidax[is related directly to the generation of
jobs. One way of its going about would be to adopt alternative (2)
posed by us above, namely to offer 100% exem tion from income tax
but for varying periods depending upon the number of jobs a firm
creates.

Let us say that the Government offers 5-year exemption to
new firms creating 10 jobs, 10-year exempfion to those creating
20 jobs and 15-year exemption to those creating 30 jobs and over.

(I have deliberately chosen discrete figures for the purposes of

this exercise in the interest of simplicity.) If as a result of



this announcement the three firms, in our illustration, with
different capital cost profiles, which c@me forward to set up their
plants in response to the conventional tex holidey would also come
forward now, then the cost to the Government for the creation of

30 additional jobs would work out to be exactly the same as under
alternative (1),

Quite interestingly, each of the three firms stands to gain
from the tex holidey releted directly to generation of employment
to the same extent as under conventional tex holiday. The reason
for this is thaet though under the changed tox holiday regime the
100% tax exemption is—granted to a firm provided it creates 10 or
more additional jobs, the benefit that & firm stands to derive

in the form of the amount of tax it saves for every job that it

directly creates is still not subject to any limitation so thet

Firm B can still save through tex exemption five times more than
Firm A and Firm'C can save through the same toax exemption twice

as much as TFirm B even though all the three firms creatc 10 jobs
each.

Let us now relax, temporarily though, our restriction
with respeet to equi-cost alternatives. There is otherwise the
danger of our being taken to implicitly assume that on the announce-
ment of the above scheme of tax exemption under alternative (2),
vhich clearly offers higher income tax exemption for lorger
employment, the firms will not try either to switch over to more
lahour intensive technology or to mohilise additionel capital

or even to de¢ hoth.
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True that if cach of the firms in our illustration plans to
undertake the s:me level ¢f investment ns before, it will stand
to gain as much from tax excmption under alternative (2) as it
would gein under altcernative (1). But now alternative (2) offers
additional tax exemption if a firm is able to generate additional
employment. Should Firm B, for instance, be a&ble to either switch
over to a2 more labour intensive technology or ley its hand on
additional capitnl (or even work out a combination of both) such
that it can now generate employment of 20, instead of the earlicr
10, it becomes cligible for a higher level of tax exemption neamely
100% tax exemption for a period of 10 instead of 5 years only.

Let us cssume that all the three firms in our illustration,
Firms A, B and C are able to switch over to o technology that .
enables them to avail themselves of'the highest available tax
exemption, namely 15 years' tax holiday, without having to mobilise
additional capital, What it would mean is that as agrinst the
totnl ceapitel investment of Rs.1,600,000 the numbers of jobs
would increase to 90 but the cost teo the Government would now
amount to Rs.120,000 o year for a period of 15 instend of 5 years.
( “ssuming no discounting for time, the total cost to the Government
in terms of revenue forgrne thus increcses three-fold., It goes up
from Rs.600,000 (Rs.120,000 x 5) to Rs.1,800,000 (Iis.120,000 x 15)).
But the cnst tc¢ Government for every additional job created remains
the same, (According to the nbove calculations, the cost tc the
Government per job remeins Rs.20,000.) Also, and much more
importantly, the differential in gain from tex exemption fer every
job thus created remains the same for more capital intensive

investments as compared to less capitel intensive investments.
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But if we assumed that in switching over to a more labour
intensive technology cach of the firms hans, At the same time, to
incrense the size of its investment, though at a uniform rate,
then while the differential in terms of the gain from tax exemp-
tion might still remnin the same, in relative terms, ns between
capital intemsive and loss capital intensive investment, the cost
to the Government for every job thus created will gn up.

Thus in terms of the test we hnve proposed the position
under alternative (2) remains basicelly the same, or hecomes worse,
with the relaxation of the budget restriction; it certainly does

not improve,

Alternative (3):

Let us now exemine whet our alternative (3) seeks to achieve.
Betveen three firms, 4, B end C in our illuatration, the benefit
of tax holiday would now be availeblo in inverse relaticnship to
the capital cost per job of euach firm. If a firm's copital cost
por job is higher, its rete of exemption is correspondingly lower,
This would mean that if C employs 10 times the capital employed
per job by A, C is entitled to one-tenth of the exemption allowed
to A, This is unlike rlternative (2) wheoreundor entitlement to
tax exenmption is at the same rate (and for tho same puriod) if
the jobs crezted by the firms are tﬁc snme; Thus, in our illus-
tration, the differential night taku either of the twe forms,

One¢ vay of introducing the differentiel under oalternctive (3)
would be thnt if Pirm A is granted twenty years' tax holidzy,

Firm B would be given 4 years' tax holiday, end FPirm C cnly two
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yeers., Here ogain, we have not made any allowence for discounting
.of time. The 'second way of introducing the same type of differen-
tial would be that if Firm A is granted 100% exemptisn from income
tax for, say, 2 5-year period, Firm B would be entitled t- o 20%
exemptién and Firm C fcr a 100% exemptinn for the same length of
years.
Let us say thet incrme tax exemption is granted diféeren—
tially acc-rding to the second method indicated ahove. As cen
be seen from Tabkle II, when the rete of exemption is inversely
related to the capithl employed per job, the tax saving per job
vhich each firm makes, regardless of its capital intensity is the
same, But the net rate of return increeases for investments of
labour-intensive type relative to those which are cdbital—intensive.
N

Yhile the net rate of return fof firm C will now be 8,25% that for
Firm b will work out at 9% and for Firm A, the most labour-
intensive Pirm, ot 15%.

Table II: Net Rate of Return from Tax Holiday Offering

Tax Exemption in Inverse Relationship to Capital
Employed per Jnb

Firm Capital Profit Tax payable Fate Tax  Profit Net rate of

employ~- before in the ab- of ‘saved after return on cnpital
ed per tax sence of tax exem- per tax employed
'jﬂb Bs exemption ption j&b i %

A 10,000 1,500 750 100% 750 1500 15%

B 50,000 7,500 3,750 20% 750 4500 9%

¢ 100,000 15,000 7,500 10% 750 8250 8.25%
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We would be perfectly justified t~ expect that normal
profit maximising behaviour on the pert of the firms would impel
o shift from cepital-intensive to labour-~intensive investment when
the latter offer much higher net rate of return. If, in spite of
this introduction of differenticl in the systom of tax holiday,
all the three firms in our illustration egtablish themselves in
the%r respective businesses in the same ﬁannor'as before, i.e.
their scale of operation remains unaffected, fhis would only mean
that business investments are insensitive to changes in net rates
of return - which is.a rather qxtreme situation. Moreover, it
undermines the whole rationele behind the gran£'of tax incentives,
especially income tax incentives, which is that business opefntioné,
particulquy investments, are quite sensitive to chnngeg in ﬁot.
rates of return.

Supposing oll the capital available for investment in our
illustration of three firms, namely Rs.1.6 million, gets divefted
to the most laobour-idtensive operations of the type of Firm A, so
that it could avail itself of the higbest net return, then though
the cost to the Government in terms of revenue foregone would still
be Rs.120,000 a year the total employment generated in ihe economy
directly as & consequence of the shift ta more labour intensive
operations would be as high nsl160 insteqd nf only 30.

Thus, according to the employment test Qe have proposed,
of the three types of tax holiday bétween which the choicé has been
posed by us, it is only the thi?d type of tex holiday where the
rate of exemption from income tex is inversely related to the

capital employed per job which yields the best results in terms
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of employment generated relative to the cost to the Government in
terms of the reveeue that it foregoms by granting tax holiday.

Although the test we have proposed above for the choice of
tax holiday looks out for the type which confers on the firms the
same amount of tax saving for every job they create, our express
objective was to optimise employment as related to the cost the
Government would bhe incurring by granting tex holidey to firms.

But it cannot he overlooked that from the point of view of equity
clso it is important that firms should be entitled to the same,

and not differcent amount of tax saving for each job they create,.
Viewed thus, under the first and second alternatives the firms
enjoy different amounts of tax saving for creating the same number
of jobhs whereas under nlternative (3), all the firms enjoy thec same
amount of tax saving for every job they create, Therefore, from
the point of view of equity also, alternative (3) shnuid commend
itself over alternatives (1} and (2).

OQur conclusion above clearly chalienges the 'established’
belief that the tax heliday of the conventional variety is neutral
or non-discriminant-ry between capital intensive and labour-intengive
investments.2 All that this so-called neutrality of the conventional
tax holiday really amounts tn is that the retes of return for
various tyyes of invesatments, be they luﬂour or capital intensive,
remain relatively unaffected as is shown in Table i above, Ineci-
dentally, it could be argued that even capital allewances such as
development rebates and initial allowances are meutral in the same

sense although it is gencrally bhelieved that these allowances

See I,5.Gulati, On the Neutrality of Tax Holiday (to be jpublished)
for\n fuller discussion,
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cffect the relative factor costs adversely for lnbour.3 It is
overlooked altogether that under the convontional tax holidey regime
the cost to Government in terms of revenue foregone (or the benefit
to the firm of tax saved) for every job created is higher with

respect t2 capitel intensive than labour intensive investment,
v

Let us now come to the nssumptions made by us in the preceding
gsection and examine to what cxtent our conclusion rests on these
assumptions., Our first cssumption was with respect to variable
capital intensity between firms. This, as we have stated already,
is implicit in the very nature of the choice posed by us. If
cepitnl intensity is the same for all the firms, the j:roblem cof
choice pnsed by us does not arise. Therefore, there is no questinn
of our droppings or relexing this assumption.

A douBt might be rnised n1l the same regarding the assump-
tion of veriable cuﬂitnl-intonsity hetween firms on the ground that
implicit in our e¢nlculations is a further ussumjption with respect
to the uniformity in the ratio of fixed to working capitel fer all
types of investments, whether labour intensive or cepital intensive,
Now, if the tendency is for more labour-intensive investments to

have a lower ratioc of working to fixed cepital than less labour-

3 See L.C.Guptn, Development Rebate, Capitol-Intensity and Employ-
mont, in Economic nnd ¥Yoliticnl VYeekly of January 6, 1973.
Gupta's argument is that since development reb:te is availeble
with respect to plant and equipment at a uniform ratoe regardless
of whether thoy are emplcyed in more or loss capital-intensive
technology, the rehate can be said to be noutrrl between such
different technclogi:s, Gupto then goes on to argue that given
this neutrality "development rcbate is unlikely to have hud any
significant influence on the¢ choice of capitnl intensity in gencrel™

-



16

intensive investments, the disparities in terms of cost t~ Govern-
ment for every job crented will become even wider then whnt our
calculations in Table I suggest. However, if, as is far more likely,
the tendency is in the opposite direction i.e. for the lebour
intensive investments to have higher ratio of working to fixed
capital, the disparities will certainly become narrower.

But the basic conclusion of this paper remains unaffected
nemely that in the choice of tax holidny to be offered, it is the
tax holiday under altcernative (3) which should be offered in order
to optimise the results in terms of adcditiennl empleyment vis-n-vis
the cost to Government in terms of the revenue it forgoes in the
grant of tax holiday. The only modification - if it is a modifi-
cation at nll - called fcr to the earlier nrgument would be that
the rate of tax cxemption should be inversely reloted not just to
fixed copital employed per job but to total cajpitnl, including
working crpitnl, employed per jcb.

It is quite conceivable thet for an investment which is
less ceopitel-intensive in terms of the rntio of fixed capital to
labour the ratio of working to fixed capital might be so much
higher than thc corresponding ratio for what is a more capital
intensive investment agein in terms of the ratio of fixed capital
to labour thnt the overall figure of total capitnl employed per
job for the former is cqunl to or even higher then that for the
latter. 1In that ense, the inverse linking of the rate of exemp-
tion tn tctal cejitel employed per job could have an adverse

impact on thc rete of retrrn on the former relatively to the latter
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investment. Even then, the situation emecrging as a result of the
inverse linking of the ratc'of exemptibn tblcapital employed per
job would pass our test which is that the cost to Government, in
terms of revenue foregone for every job created should
by being uniform sccure the higﬂest additional employment.
. Our next assumpticn is with respect to the uniform rate of
return on capital for all types of investment. There can be no
denying that given the morket iﬁperfections-of the real world
different rates of return could, and pfobubly would, actually
obtain. To what extent one may eask, does'our conclusion regarding
the-choice of alternative (3) rest on this particular assumption?
Frankly, it docs rest importantly -on this assumption of a uniform
rate of return in thu£ otherwisc the fixation of the rate of
exemption in inversc‘relationship to the cuapitel. employed per job
by a firm might not pass the test prescribed by us. =

Vheat is importdnt to know then is whether the rates of
féturn on capitni are uniformly lbwer.ériﬁigher fcr labour-intensive
investments as cempared té'capital intensive investments. If the
rates of return tend to be lower for labour.intensive than for
capital intensive investments, then'the cost to Government, in
terms of tax revenue foregone;’for every job . . . undcr the
conventionsl tax hsliday, will bhe still smaller for labour intensive -
investments compared to that for capital intensive investments.
Even inverse linking c¢f the rate c¢f exemption to cepital intensity
will enteil higher cost, in terms of revenue foregone Dby Govern-

ment, for every job created by capital-intensive investments than
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that fcr every job created by relatively less capital intensive
investment.

If, on the cther hand, the rates of return tend to be higher
for Ilabour intensive investments than for capitel intensive invest-
ments the relative position with respect to the cost to Government
of & conventional tax holiday will be less disperate than is
suggested by our earlier calculations and inverse linking of the‘
rate of exemption to capitel intensity would mean that the diqurity :
in the cost to Government for every job created in more capitel
intensive firms as compared to that in less capital intensive
firms will also be narrower,

The basic point remains however. So long as the profit

per job varies in the same direction with capital employed per job,

the cost to the Government of & conventional tax holiday in terms

of revenue foregone is higher for more capital intensive opero-

tions compared to less carital intensive operntions, The case

would still therefore exist for giving tax exemption in a manner
that firms with lower capital per job are eligible for higher

' per
exemption than firms with higher cnpitalljob. But if it is desired

to equate the cost per job to Govdrnment of employment in order

to optimize results this would then be possible to achieve by

Irelating the rote of exemption inversely not to the capitel employed

per job but to the profit enrned per job.4

See I.S.Gulati, On the Neutrality of Tex Holiday (to be
published) for an elaboration on this point.
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As for the third assumption regarding the uniform rate of
tanx on profits, this accords with the stendard Anglo-Saxon practice
of taxing compony profits at © uniform rate and there is no question
of dropping or relaxing it. Our fourth assumption regarding the
uniform rate cf exemption has been relaxed already in the course
of our discussion. On the whole, therefore, we are on safe grounds
te say that our conclusion as to the right choice of the tax

holiday should generally hold.

Finally, let us come to the practicality of linking the
rate of tax exemption for each firm under a tax holiday inversely
to capital employed per job. There ienlly is no strong basis to
entertain any great doubt on this score. It has to be remembered
in this context that in almost all developing countries offeripg
tax holiday the concession is avanilable to only incorporated firms
(i.e. companies) which arc cbliged to maintcain, and even publish,
their records on o uniform basis. JAlso, lews and regulations releting
to income tax on companies the maintcenance and submission
of information on a standerd pattern. Additionelly, lebour legisla-
tion in most of thesc countries already requires recording of
information with respect to employment of and payments to workers
by firms cf & minimum size and above. Given this background, it
should not present much problem for a Government to nascertein
separately for each firm quulifying for tax holiday of the
proposed tyne the carital omployéd per job - the information which

ig crucial to the aperation of this type of tex holidey.
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Also it might be worthwhile referring here to the one
particulaer problem of capital valuation which arises hecause of
the differences in age of a firm's capital nsscts. Vhat we are
really concerned with in connection with tex holiday is new
investment in capital assets and the related incremental employ-
ment it generates. Therefore the problem of voluation associated
with &ge differences of a firm's capital assets need not arise at
all in the context of the tax holiday of our choice, nemely the
one that links the rate of exemption inversely to the cajital

employed per job.
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